
ASSEMBLY INSTRUCTIONS
Keep these instructions for future use

Hanson Bed Assembly Instructions
THIS PRODUCT INCLUDES:
• Side rail (x2)
• Crossbar (x4)
• Wrench (1)

• 1/4" bolts (16)
• 1 1/4" bolts (12)
• 1 1/2" bolts (16)

➊ �Assembling the base 
Lay the side rails on the ground upside down and parallel next to each other with holes facing inward and legs up. Using 
the included wrench and 1/4" bolts (16), attach the four crossbars to a side rail. Attach the second side rail to all of the 
crossbars. The base is now ready to be attached to the upholstered platforms. 

➋ �Attaching the platforms to the base 
Lay the upholstered platforms next to each other with the black side facing up and the majority of the holes toward the 
center. Align the assembled base on the platforms with the legs facing up and attach the base with the 1 1/4" bolts (12). 

➌ �Attaching the L-brackets to the platforms 
Flip the bed on its side and attach the L-brackets with eight 1 1/2" bolts. (Figure 1)

➍ �Attaching the headboard to the L-brackets 
Flip the bed to the upright position on its legs. Align the L-bracket holes with the headboard’s attachment points. Screw 
the headboard to the L-brackets using your wrench and eight 1 1/2” bolts. The bed is now assembled and you may place 
your mattress directly upon it. 

4600 Olson Memorial  Highway   |    Minneapol is ,  Minnesota 55422   |    www.roomandboard.com   |    800.301.9720

1/17/19

Headboard

L Bracket

Platform

Crossbar

Siderail

Figure 1


